JAYCEES PUBLIC SCHOOL, RUDRAPUR
Holiday Homework (2021-2022)
Clasg XI1 Commerce
Dear parents
With summer vacation around the corner, it is time to rejuvenate and rewind ourselves
but at the same time it is pertinent that we engage our children in some fruitful
activities. For the same, we have designed holiday homework keeping in mind the limited
availability of resources, to enrich the children with the much required in -depth
learning, strengthened output and to prepare ground for improved academic output.
As parents, kindly encourage your children to complete work on their own for your
motivatio n and encouragement can make a world of a difference.
REGARDS,
JPS

English
1. Read English newspaper daily . Learn three new words and write their meanings in your English Fair notebook.

2.Cut samples of the following from the newspaped paste it in ur Fair notebook

a) 3 Reports b) 3 Articles ¢ ) 3 classified advertisement

3. In India the urban poor live in stluman conditions in slums.Write an article on ' possible steps to deal with

slums in India’.

4. Admission to higher edudah is becoming increasingly difficult with enff lists for admission to universities and
colleges constantly riding. Write a letter to the editor of a national newspaper voicing your concern over the issue.
5. You are Rita/ Rajesh Ardram 67- B Shanti Park, Meerut. You have read an advertisement in ' The Times of India
' for the post of a librarian given by Willow Public School, Meerut . Write an application to apply for the post.

6. Aggressive driving has been a problem on oursdada while and it seems to be only getting worse. Incidents of
screaming, rude gestures and sometimes even violence are reported frequently on our roads, resulting into roa
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such incidenbf road rage witnessed by you.
Accountancy

Ch Financial Statements of Nefor Profit Organisations( NPO)
1 Topic Fund based Accounting

Question.1

How are following items shown in the financial statements of Nebr-Profit Organisation?

i) Tournament fund Rs. 2,00,000 ; Tournamentexpenses Rs. 60,000 ; Receipts from Tournament
Rs. 80,000.

i) Billiard match expenses Rs.25,000.

iii) Receipts from Cinema Show Tét& Rs. 50,000 ; Expenses on Cinema show Rs.15,000.

iv) Prize Fund Rs. 1,00,000 ; interest on prize fund Investments Rs.10,000; Prizes awarded
Rs.20,000; Prize Fund Investments Rs.80,000.

V) Prize Fund Rs.80,000; 10% Prize Fund Investment§ éprdl ,2019 Rs.8,000;. Donation for

prize Fund Rs.12,000; Prizes awarded Rs.14,000; Interest received on 10% Prize Fund
Investments Rs.4,000.

Vi) Expenditure on construction of pavilion during the year was Rs.6,00,000. The construction
work is in progress and not yet complkd. Pavilion Fund as on 8tarch , 2019 Rs.8,00,000.
Donation for pavilion received on Sept. ,2019 Rs.10,00,000; Capital Fund as &t@arch
,2019 Rs.20,00,000

vii) Present the following items in the Balance Sheet of vaccine Malhotra Welfare Society 3"
March 2020:



1 Capital Fund on®1April 8,00,000

20109.

1 Building Fund on %April 5,00,000
20109.

1 Donation Received for 4,00,000
Building.

Expenditure on Construction of Building Rs.10,00,000. The construction work was completieel éid of financial
year.

Topic Treatment of subscription

Question.2

Calculate the amount of Subscription to be credited to Income and Expenditure account for the yeai2P019

Particulars amount(Rs.)
Amount received during the year

(including * 20,000 for 2018 , “30,000 for

202021 and 10,000 for 20222). 7,80,000
Subscription received in advance as on

01-04-2019 (including "15,000 for

202021) 35,000
Subscription in arrears as on-04-2019 40,000
Subscription in arrears as on-83-2020. 50,000

Out of subscription in aears on 0304-2019, “15,000 are no longer.

Topicc Treatment of consumable items

Question.3

From the following information, calculate the amount to be charged to Income and Expenditure Account for
W{LIR2NI&a YFEGSNRAIFf O290adzYSRQ F2NJ 6KS @SN vamp

Particubrs Amount(Rs.)

Stock of Sports material (@4-2019) 60,000

Amount paid to creditors (during 202®) 3,00,000

Creditors for Sports Materials (@4-2019) 1,00,000



Creditors for Sports Materials (8B-2020) 80,000

Sports Material sold During the year
(Book Value Rs.35,000) 15,000

Cash Purchases of Sports Material
(During the Year 20120). 1,30,000

There waszero stock at the end of financial year 2029.

Topic Treatment of expenses (_ Locker rent, salary , etc.)

Question .4A)

How will you deal with the following items while preparing income and expenditure Account of a club for the year
ended 3% march ,2020.
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for the year 500. 700
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2019 was Rs.15,000 including
Rs.400 for 2019

B) Following information relates to Royal club as on"@ecember ,2019 as per Receipts and Payments A/C:

Additional information : Rs.
i) Salaries unpaid 2018 12,000
1)) Salaries unpaid on 312-2019. 15,000
iii) Prepaid salaries 31.2-18 3,000

Show how much salaries be debited to income and expenditure Account and shown in balance sheet.

Topic Income and Expenditure Account and balance sheet




Question.5

The following is the Receipts and Payments Accounts of Dhamaka Club for The year ended Mais2@18:
Receipts. Rs. Payment Rs.
To balance b/f 1,82,000 By Salaries 1,66,000
To Subscriptions.1,80,000 By Stationery 32,000
To Tournament
Fund. 1,64,000 By Rent 48,000
To Interest
(Investments) 65,000 By Telephone expenses 8,000
To Donations 1,12,000By Sports Material and exp. 78,000
To Sale concert
Tickets 2,47,00 By Investment 6% 5,00,000
By misc. Expenses 24,000
By concert expenses. 58,000

By balance c/f. 6,800

9,50,000 9,50,000

The following additional information is provideda)Subscriptions include Rs. 12,000 for 216 and Rs. 18,000 for
2018¢ 19.

B)stockof stationery on F1March, 2017 and 2018 was Rs. 7,200 and Rs. 5,400 Respectively.

C)Stoclof Sports material at the beginning and end of the year was Rs. 12,000 And Rs. 21,000 respectively.
D)Rent includes Rs. 4,000 paid for march, 2017. Rent for March, 2018 is Outstanding.

E) Telephone expenses include Rs. 3,000 as quarterly rent up to May2618

() The value of Building as on 3March 2017, was Rs. 8,00,000 and you areRequired to write off depreciation at
10%.

(g9) The value of investments on %March, 2017 was Rs. 10,00,0@8d the club Made similar additional
investments during the year on*10ctober, 2017.

You are required to prepare the Income and Expenditure Account and balance sheet of the club For the year endec
March 3£'2018.

Ch Accounting for Share Capital

Topicclssue of shares for consideration other than cash




Question .6 A)

Nikhil Ltd purchased a running business from Sonia Ltd for a sum of Rs 22,00,000 by issuing 20,000 fully paid equi
shares of Rs 100 each at a premium of 10%. The assets and liabidressted of the following Machinery Rs

7,00,000, debtors Rs 2,50,000, stock Rs 5,00,000, budding Rs 11,50,000 and bills payable Rs 2,50,000.Pass
necessary journal entries in the books of Nikhil Ltd for the above transactions.

(B)Polo Ltd. Issued 2,5Ckhares of Rs.10 each credited as fully paid to the promoters for the services rendered to
incorporate the company and also issued 2,000 shares of Rs.10 each credited as fully paid up to the underwriters
for their services. Journalise these transactions.

Topic Undersubscription and oversubscription

Question 7A)The authorised capital of milk silk Ltd. Is Rs.1,20,00,000 divided into 12,00,000 shares of Rs.10 each.
Out of these company issued 8,00,000 shares of Rs. 10 each at a premium of 20%. The amount per share was
payable as follows:

On application. Rs. 2

On allotment. Rs.4 (excluding premium)
On the first call. Rs. 2

On final call. Balance

Public applied for 7,80,000 shares. All the money was duly received. Pass necessary journal entries.

B)ParleG Ltd. Invited applications for 50,000 shares of Rs. 10 each With 568%ipm payable on Rs 4 on
application( including Rs.1 premium) Rs.4 on allotment(including Rs.2 premium) and balance on first and final call.
Applications were received for 60,000 shares. Applications were accepted for 50,000 shares and remaining
applications were rejected. All calls were made and received except first and final call on 500 shares.

Pass necessary journal entries in the books of RP&letd.

Topicc Forfeiture and Rassue of Shares

Question .8AAX Limited forfeited 6,000 shares of Rs.ddh for nonpayment of First call of Rs. 2 per share. The
Final call of Rs. 3 per share was yet to be made. The Final call was made after Forfeited of these shares. Of the
forfeited shares, 4,000 shares were reissued at Rs. 9 per share as fully paidsumig that the company
YEAYOGLAya W FHtfta Ay ' ROFLYyOS 1 002dzyiQ yR W/ Iffta Ay
books of AX Limited.

(B)BG Limited issued 2,00,000 equity shares of Rs. 20 each at a premium of Rs. 5 per share. Thwstare

allotted in the proportion of 5 : 4 of shares applied and allotted to all the applicants. Deepak, who had applied for
onn AKFENBasz FFHAESR (2 L& !'fft20YSyd Y2ySe 2F waod
CA Yl t Rb.R pet sharez his shares were forfeited. 400 of the forfeited shares were reissued at Rs. 15 per share
as fully paid up.Showing yourworking clearly, pass necessary Journal entries for the Forfeitedand reissue of
5SSLI 1094 aKINBa AR IKCEKSO D2YAI F¥E YDAYXAYAYSE W/ FHfta Ay

(c)Gaurav applied for 5,000 shares of Rs.10 each at a premium of Rs.2.50 per share. But he was allotted only 2,50
shares on prerata basis. After having paid Rs.3 per share on application , he didpagt allotment money of

rs.4.50 per share ( including premium) and on his subsequent failure to pay the first call of Rs. 2 per share , his
shares were forfeited. These shares were reissued at the rate of Rs.8 per share credited as fully paid.

Pass journakntries to record the forfeiture and reissue of shares. Also prepare Share Forfeiture Account.
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Question.9

Bony Itd.. has an authorised capital of “15,00,000 divided into 1,00,000 equityeshaf "10 each and 50,000, 9%
preference shares of "10 each. The company invited applications for all the preference shares but only 90,000
equity shares. All the preference shares were subscribed, called and paid while subscriptions were received for onl
85,000 equity shares. During the first year "8 per share were called. Ram holding 1,000 shares and Shyam holding
HXnnn &aKFENBa RAR y20 LI & FANRIOIEE 2F dnd {KelYQa &
forfeited shares weraeissued at "6 per share, "8 called up. Present the share capital in the Balance Sheet of the
company. Also, show the notes to account.

Topic Long question of shares (8 marks)

Question.10

X Ltd. has offered 50000 equity shares of 100 each at a premium of “20, payable as follows:
Application "50

Allotment 40 (including premium)

and balance on first and final call.

The bank account of the company has received “35, 00,000 on accdwshtare application money. X Ltd. decided
to allot shares to all the applicants on Pro Rata basis. The balance in calls in arrears account at the time of
allotment and first and final call amounted to "1, 00,000 and "1, 50,000 respectively. These sharedavfeited
and reissued at "90 per share as fully paid up. Journalize.

CH Issue of Debentures

Topic Issue of Debentures at par , premium and discount For cash

Question.11 A)

Hammer Ltd. Issued 4,000 ;10% Debentures of Rs.100 each, payable rsapplaration and balance amount on
allotment . The debentures are redeemable after Syears. Applications were received for the issued debentures and
allotment was made to all the applicants. The amount was received on due dates.

Pass the journal entries .
B) Lemon Tree Itd. Issued , 5,000; 9%Debentures of Rs.100 each at a premium of 20% payable :
On application¢ Rs .50 ,. On Allotmegbalance amount

Applications were received for the debentures issued and also the amount due On allotment . Ragaithal
entries for the above .

C) Exe Itd. Issued 20,000; 9% Debentures of Rs.100 each at discount of &'%p]ﬂ 12020 Payable Rs.30 on
application and the balance on allotment. The debentures are redeemable after 5 years. Pass journal entries for
the issue of debentures and writing off discount on issue of debentures.

Question 12. AYOn April 1, 2019 Z Ltd. issued, 10,000, 8% Debentures of 100 each at premium of 5%, to be
redeemable ata premium of 10%, after 5 years. The entire amount was payable on application. The issue was
oversubscribed to the extent of 10,000 debentures and the allotment was madeproportionately to all the
applicants. The securities premium amount has not been zéitl for any other purpose during the year. Give
journal entries for the issue of debentures and writing off loss on issue of debentures.



) Honey Ltd. Issued 10,000, 9% Debentures of Rs 100 each for subscription, payable Rs. 60 on application and
balanceon allotment. Subscription was received for 9,000 Debentures .

Allotment was made and due amount was received. Pass the journal entries for issue and allotment of
Debentures.

Topic Issue of Debentures for consideration other than cash and as collateicairssy .

Question .13 A)Neeraj Ltd. Took over business of Ajay enterprises or202@. The details of the agreement
regarding the Assets and liabilities to be taken over are:

Particulars. Book Value () Agreed Value ()
Building. 20,00,000 35,00,000
Plant and Machinery 12,00,000 8,00,000

Stock 4,00,000. 4,00,000
Trade receivables. 5,00,000 4,00,000
Creditors 2,00,000. 3,00,000
Outstanding Expenses 50,000 1,00,000

It was decided to pay for purchase consideration as0@,000 through Cheque and balance by issue of 2,00,000,
9% Debentures of “20 each at a premium of 25%. Journalize.

B) Raja Ltd. Took a loan of * 5,00,000 from HDFC Ltd. And issued 7% debentures of * 7,00,000 as collateral
security.Pass Journal entry (ihg) for issue of debentures and show this in balance sheet of Raja Ltd. In following
cases:

i) Journal is not passed for issue of debentures.

(ii) Journal is passed for issue of debentures.

Topic Issue of debentures from the point of view of Redemption antgtrest on debentures

Question.14 A)

Pass the necessary journal entries for the issue of debentures in the following cases:

()Rs 40,000,12% debentures of Rs 100 each issued at a premium of 5% redeemable at par.

(i)Rs 70,000,12% debentures of Rs #a@h issued at a premium of 5% redeemable at Rs 110.

iii) 10,000 ,10% debentures of Rs.100 each issued at a discount of 5% redeemable at a premium of 10%

B)BG Ltd. Issued 2,000 ; 12% Debentures of Rs.100 eac?‘u@pril ,2012 . The issue was fully subscribed.
According to the terms of issue, interest on the debentures is payable-lyalirly on 36" September and 3i
march and the tax deducted at source is 10% . Pass necessary journal entries related to the utebieterest for
the half- yearly ending 3% march , 2013.



Topic Long Question of Debentures (6 marks)

Question.15

On £ April, 2019, Anshika Ltd. Purchased assets of Rs. 4,30,000 and took over liabilities of Rs.90,000 of Greg Ltd.
At an agreed alue of ? 3,80,000. It issued to the vendor, 10% Debentures of Rs.100 each at 5% discount,

redeemable at par after 5 years, in full satisfaction of the purchase price. On the same date, the company issued
500, 11% Debentures of Rs. 100 each as a collassraurity to a bank who had advanced a loan of rs. 45,000 to it

for a period of 3 years and also issued 5,000, 12% Debentures of Rs. 100 each at par, redeemable after 3 years at
5% premium.

Additional Information:

The interest on debentures is paid hakarly on 38" September and 31March each year. Tax deducted at source
@ 20%. The Company had ? 1,20,000 in its Securities Premium Reserve Account at the end of the year (Ignore
interest on bank loan).

Pass Journal entries in the books of Anshikd. For the year ended $WMarch, 2020.

Business Studies

Note:Attempt all the case studies and writeanswers with proper explanation in business studies notebook.

1. Yash Ltd. is facing a lot of problems these days. It manufactures electyoods like washing machines,
microwave ovens, refrigeration and @2 Y RAGA 2y SNA® ¢KS O2YLIl yeaQa YI |
profits and market marketing department blames production department for producing goods, which are
not of good quality2 YSSG Odzai2YSNEQ SELISOGIGA2yad ¢KS FTAY
marketing departments for declining return on investment and bad marketing/hat quality of
management do you think the company is lacking? Justify your answer.

2. Sonaliis the manager of a large company manufacturing garments for kids. She plans her winter collection i
the month of August itself. Then, she ensures that there is adequate workforce. She continuously monitor:
whether production is proceeding according taps. She asks the marketing department to prepare their
promotional and advertising campaigns also.

(a) ldentify and explain the concept of management explained in the above para.
(b) What characteristic feature does the above para highlight? State.

3. Gonnda Ltd. is a highly reputed company. Different functions are performed by different individuals in this
company, who are bound together in a hierarchy of relationships. Every individual in the hierarchy is
responsible for successful completion of a partar task. Mr. Gauranga is responsible for the welfare and
survival of the organization. He formulates overall organizational goals and strategies for their achievement
MR. Nityanand ensures that quality of output is maintained, wastage of materialgisiiged and safety
standards are maintained. Mr. Sanatan assigns necessary duties and responsibilities to the personnel al
motivates them to achieve desired objectivéé what levels of management are MR. Gauranga, Mr.
Nityanand and Mr. Sanatan workingniGovinda Ltd.? Justify your answer.

4. {Fye2lyl A& GKS oNIYyOK YIFyF3ISNI 2F ! ./ | FyRAONY T
Indian handloom and handicraft products. Its sells fabrics, furnishings,4eadgs and household items are
madeout of traditional Indian fabrics. Sanjana decides quantities, variety, colour and texture of all the above
items and then allocates resources for their purchase form different suppliers. She appoints a team o
designers and crafts people in the compamwo developed some prints for bed covers in bright colour on
silk. Although they looked very impressive, they were more expensive than they had planned to sell. Averag
customer could not afford to buy it. Praising their effort, Sanjana suggested thatstiemyld keep the silk



10.

11.

bed covers for special occasions like Diwali and Christmas and offer the cotton bed covers on a regular ba
to keep costs under controldentify the functions of management which Sanjana performs by quoting the
lines the above para

Jatin works as a salesman in a company selling pet accessories and food. He has been given a target of se
1200 units of the food packets in a month by offering a maximum of 10% discount to his customers. In orde
to meet his monthly sales target,nothe last two days of the months, he offers 15% discount to his
customers.In the context of the above case: Is Jatin effective in his work? Explain by giving a suitable
reason in support of your answer.

Soniya Ltd. was engaged in the business of matwfag auto components. Lately, its business was
expanding due to increased demand for cars. The competition was also increasing. In order to keep i
market share intact, the company directed its workforce to work overtime. But this resulted in many
problems. Due to increased pressure of work the efficiency of workers declined. Sometimes, the
subordinates had to work for more than one superior. The workers were becoming indiscipline. The spirit o
teamwork, which had characterized the company previoushd begun to waneldentify any three
principles of management (as given by Henry Fayol) which were beginning violated, quoting the lines from
the above case.

The management and workers have entered into an agreement that workers will do overtime tougpver
looses of the company. In return, the manager will increase the wages. But management later refused t
increase the wage®ame the principle violated in this situation.

Nikita and Salman completed the MBA and started working in a multinational congtahg same level.

Both are working hard and are happy with their employer. Salman had the habit of backbiting and wrong
reporting about his colleagues to impress his boss. All the employees in the organization knew about it. A
the time of performance apraisal the performance of Nikita was judged better than Salman. Even then their
boss, Mohammed Sharif decided to promote Salman stating that being a female Nikita will not be able tc
handle the complications of a higher poktentify and explain the prigiple of management which was not
followed by this multinational company.

Telco Ltd. is manufacturing files and folders from old clothes to discourage use of plastic fields and folder:
For this, they employ people from nearby villages where very lespportunities are available. An
employee, Harish, designed a plan for cost reduction but it was not welcomed by the production manager
Another employee gave some suggestion for improvement in design, but it was also not appreciated by th
production manager. State the principle of management described in the above para.

Khandelwal Ltd., a tyre manufacturing concern has been established for more than ten years. Having mac
good profits in the past, company wanted to expand further and hence did not @eblanus for the
previous year. The workers got agitated and trade union declared strike and demanded bonus and othe
facilities. The management decided not to give into their demandéich principle of scientific
management is overlooked in the given case

Gaurikahas been appointed as the chief organizer of a weeklong cultural event. Being a staunch follower o
scientific management, she decides to execute her work by putting into practice the various techniques o
scientific management. On the basis of severaeastations, she is able to determine that the standard time
taken by the security officer at the gat to check the credentials of each visitor is 30 seconds. So she decid
to employ two persons on this job for every function along with the other necessgoport staff. She
considers the fact that every day, the functions will take place in three shifts of four hours each, therefore it
is important to give breaks to the support staff even in a single shift to take her/his lunch etc. Moreover, on
introspecton, she determines that the best way to distribute refreshment boxes to the visitors will be to
hand it over to them at the exit gate as it would help to save time and eliminate any kind of confadioa.
context of the above case: Identify and explaihe various techniques of work study which have been put

into practice by Gaurika.
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Mr. Mukesh used to manufacture shoes by employing labour who was easily available. When his son afte
completing his MBA joined the business, he analyzed that if we usealcapgensive method by using a
machine it will reduce the cost and the quality of shoes will also impraigEch technique of scientific
management is used by his son?

® G%SNR 5SFSOG %SNR 9FFSOGE¢ 0%950 ANarehdra ModRvdth y
reference to the Make in India initiative launched by the government. The slogan reflects the efficiency of
production processes, i.e. the products have no defects and the process through which the product is mad
has zero adverse envinmental and ecological effects. The Zed model aims to make India the manufacturing
hub of the world and prevent the products developed in India from being rejected by the global market.
Moreover, before the initiative was launched, the limits of foreigredi investment in various sectors had
been relaxed. The application for licenses was made available online and the validity of licenses we
increased to three years. Various other norms and procedures were also relaxed by the goveinnieant.

light of the above paragraph, identify and explain the major component of New Economic Policy of 1991
that are being referred to by quoting lines from the paragraph.

Over the years,-®dusiness in our country has witnessed tremendous growth due to several reasons. There i
significant improvement in the Information Technology infrastructure over the last decade as the
Government has taken important steps in higjreed hternet connectivity. As a result, the broadband
networks have not only become better but also more affordable. Additionally, Government is trying to make
rural India connected through broadbamda great possibility for dusiness to expand the retail niaat by
reaching out to the most remote rural customer. Another catalyst strengthening t#hesaess segment is
GKS O2dzyiNE QA Tl @2dzNF ot S RSY2INILIKEP LG KIFA& Y2 NI
than 65% below the age of 35. It is egped that, in the year 2020, the average age of an Indian will be 29
years, compared to 37 for China and 48 for Japan, this promises for phenomenal incredsesiness.
Moreover, the penetration of the Smartphone in a large section of the populatienapy addressed the
problem of compute illiteracy. Notwithstanding the fact that consumers also prefeusiness due to
multiple factors like convenience, time ettdentify and explain the various dimensions of business
environment being referred to irthe above case.

Nakul, a manager of Zyco Ltd. always takes into account the changes taking place in business environme
while determining plans. He accepts changes readily and gives useful suggestions to his superior, whi
results in reductionofcosts ! & | NB&adzZ G O2YLI yeQa LINRPFAGA AyC
co-workers and makes plans in consultation with his team to achieve organizational goals.

(a) Which characteristic of management is highlighted in the above lines?

(b) Identify and state any two principles of management followed by Zyco Ltd.

It is interesting to know that the menu items of the multinational food chains are customized to suit the
ISYSNIf LIfEFrasSa 2F GKS f20Ff LIS2LI S sinyndidik Be yNds 3 A
Mppc X GKS O2YLIye 6Syid GKNRdAzAK | O2YLX SGS €201 £
accommodate the vegetable burger given the large vegetarian population. It also altered its store design an
even reduced the pi@ dzO0 LINA OS o0& Of2aS (2 FTAFGSSY LISN OSy
anywhere but in the Indian outlets of McDonalddentify the relevant feature of business environment
being discussed above.

. Rahul, a worker, is given a targetasfsembling two computers per day. Due to his habit of doing things
differently, an idea struck him which would not only reduce the assembling time of computers but would
ta2 NBRdzOS (KS O02ad 2F LINRPRdzOUA2Y 2ediating Ki®, odeded Lidz(
him to complete the work as per the methods and techniques decided earlier as nothing could be changed &
that stage.The above para describes one of the limitations of planning function of management. Name
that limitation.

Flipkartis an ecommerce company founded in the year 2007 by Sachin Bansal and Binny Bansal. Th
company is registered in Singapore, but has its headquarters in Bangaluru, India. The company seeks
increase traffic (more clicks on their products) and boostssaled revenue through integration of Mobile

Apps, Display, Pay per Click and search Engine Optimization. In order to dispel the feat of people related
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products sold by the company under a particular category may have different return/replacement period.
Flipkart allows multiple payment options such as cash on delivery, credit or debit card transactions, ne
banking, egift voucher and card swipenodelivery. The company operates both ways when an order is
received. The products for which it holds inventory are dispatched by it directly. For the products they do
not store in inventory, they just send the order received by them to the supplier wips gh The company
plans to spend about Rs. 75 crores e@@mmerce advertising in the year 2016. Flipkart reserves the right to
terminate your membership and/or refuse to provide you with access to the website if it is brought to
Cft A LJ I NI Qtis digcdvieredlrtat yduNide ArEler the age of 18 years. This is because as per the India
contract Act, 1872, the minors, tofischarged insolvents, etc. is not eligible to use the webBiteontext of

the above case, identify and explain the differengpes of plans being used by Flipkart by quoting lines the
paragraph.

19. A reputed car manufacturing company in NCR is facing the problem of decline in its market share due to i
internal mismanagement. Therefore it has planned to increase its producticacitgpat its Gurgaon plant
by manufacturing low price eewiendly cars for price sensitive consumers and introducing new models with
added features for quality conscious consumers. For this the company issues shares to the public and rais
Rs. 150 croresThe company purchases more machinery required to increase produdtentify the type
of plan the company is preparing.

20. Alpha Ltd. spent a lot of money to hire specialized people for framing their plans and collecting important
facts from environmen® ¢ KS O2Y LIl ye& Odzi R2yS (GKSANJ O02ad o6&
Name the limitation of planning mentioned in above para.

Economics

1. If the Real Gross Domestic Product is Rs.250 and Price Index (base = 100) is Rs. 120,
calculate the Nominal Gross Domestic Product.

2. If nominal income is Rs.500 and price index is 125, calculate real income.

3. On the basis of following data about an economy which constitutes only two firms, find out:
(a) Value added by A and B,

(b) GNP at FC.

ltems Rs. in lakhs
Sales by firm A 100
Purchases from firm B by firm A 40
Purchases from firm A by firm B 60

Sales by firm B 200
Closing stock of firm A 20
Closing stock of firm B 35
Opening stock of firm A 25
Opening stock of firm B 45
Indirect taxes paid by both the firms 30

Factor income to abroad 30

Factor income from abroad 25

4. Find out Net Value Added at Market Price.
Intermediate cost (Rs.) 10,000,

Change in stock (Rs.) 1,000,

Output sold (Rs.) 750,

Price per unit of output (Rs.) 40

,Import duty (Rs.) 2,000

Consumption of fixed capital (Rs.) 3,000

5. Calculate GDP at factor cost by (a) Income and (b) expenditure methods.

ltems Rs. Crore
Personal consumption expenditure 730
Wages and salaries 700
Employer’s contribution to social security schemes 100
Gross business fixed investment 60
Profit 100

Gross residential construction investment 60



Government purchase of goods and services 200

Gross public investment 40

Rent 50
Inventory investment 20
Exports 40
Interest 50
Imports 20

Net factor income from abroad ()10
Mixed income 100
Depreciation 20
Subsidies 10

Indirect taxes 20

6. Calculate gross fixed capital formation from the following data: Items (Rs. crore) Private final
consumption expenditure 1000 ,Government final consumption expenditure 500, Net exports (-
)50, Net factor income from abroad 20 ,Gross domestic product at market price 2500 ,Opening
stock 300, Closing stock 200

7. Calculate imports from the following data: Items (Rs. in crore) Values of output 2160,
Intermediate consumption 700, Gross domestic capital formation 320 Private final
consumption expenditure 440 ,Compensation paid to government employees 400 ,Government
expenditure on goods 250, Exports 80

8. Calculate (a) Gross domestic product at market price and (b) Factor income to abroad from
the following data: Items Rs. in crore Compensation of employees 1000, Net exports (-)50
Profits 400 ,Interest 250 ,Rent 150 ,Gross national product at factor cost 1850, Gross domestic
capital formation 220 ,Net fixed capital formation 150, Change in stock 20, Factor income from
abroad. 30 ,Net indirect taxes 100.

9. Legally, zamindari system of land revenue has been abolished in independent india. Yet Indian
agriculture continues to be in a state of backwardness. What in your opinion is the principal
reason for it?

10. Despite a significant rise in public investment( during five year plans), the GDP growth rate
has continued to be rather slow. Comment.

11. Does modernization as a planning objective create contradiction in the light of employment
generation? Explain.

12. Land reforms have played a significant role in transforming Indian agriculture how?

13. Substantiate the statement that during the period 1951-90, good effects of the strategy of
industrialization were overshadowed by the bad effects.

14. Can we depend on MNC's to achieve our objective of “inclusive growth”?

15. Disinvestment is a compulsion for the government even when the public sector enterprises
are efficiently operating.
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